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b) A point Q(2,-1) is equidistant from the points (p 7
¢) Two adjacent sides of a parallelogram are 15cm,al)1 cﬁd (-
15cm sides is 8cm; find the distance between 10cm S-gc
ide

—

aqm

(3)
3, p). Find p? 3)
m. If the distance between
QUESTION—Z S. )]

a) Use the information given in followj
n ng figures to find the valués of a,b,c and give

reasons also.
~
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£ L < 367 i 3
b) The circumference of a given circular park is 55?;1 Iti ' .
4.2m . Find the area of the path? | ' 18 surrounded by 2 path width
c¢) Solve for x: 22¥*3 — 9x 2% +1 =), gi
QUESTION-3
a) In the figure AD is perpendicular to BC. Prove that ¢?= a2+ b2 2ax 3)
) da.
c b h
: U U o v
b) Solve forx : (36)*3 = 6°(216) s BT =Pt £ =3 o)

¢) A square plate of side ‘x’ cm is 8mm thick. If its volume is 2880 em? find the value

of ‘x’? 4)
QUESTION-4
8) Find the area of an isosceles triangle whose equal sides are 5 cm each and base is
6cm? &

b) Sketch the graph of 2x+3y = 6. Hence find the area of triangle formed by the line
and the axes? 3
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) InAABC , < B=90 . Find the sides of the triangle if 4B = (x
c) In .

-3) cm,
BC = (x + 4) cm and AC = (x + 6)cm. @

SECTION- B (Answer any four)

QUESTION-5

a. Construct a parallelogram ABCD in which diéigonal AC=
¢m and the angle between the diagonals is 45

6.8 cm, dia
g0nal By x5
b. From the figure find the value of x and y-

§
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C. From the following figure prove that 1) <KACD=<CBE, ii) AD = CEA i it

QUESTION-6

a. Ifthe sides of a triangle are in the

ratio 1:4/2: 1
triangle?

- show that it is g right angled

b. Find the area of a circle whos
(-7,2) [take 77 = 3.14]
¢. Use graph paper for the question
i) Draw the graphs of 3x-y-2=( and2x+y-8 = (. Take lem= lunit on boty the
axes and plot three points per line,

ii) Write down the coordinates of the point of intersection and the area of te
triangle formed by the lines and x axis,
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QUESTION-7

. (3
€ centre is (5,-3) and which passes through the Point )

B)

4. The paralle] sides of an isosceles trape

! zium are in the ratio 2:3. Ifits height is §en
and areq s 240cm2; find jts berimeter,
b. Find x if loga(x2 4 25) = 3.
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Inthe i B g
¢ Inthe figure A =BCand AD is pe endicular ¢
AC?=2p cDe A Perpendicular to cp. Prove that



"l‘ the v axis whicl g
Find {he point on the hich is equidistant fropy, the poi
4 > Points A(-4,3) and B(S, 2
= . ? s 2).
A cube of a metal of Sem edge is melted and casteq iy to ; 3
5 50cmX 0.50cm. Find height of the cuboid? Al find szli‘ubmd whose base is
face area of cuboid? (3
pvaluate F*‘ (0. 01) = x5-273 )
A )
l FQTION -9
-rimeter of a rhombus is 46¢cm. If the
. ThePe height of the rhombus is 8cm. Find its
area’- . (3)
regular hexagon of side 4cm? 3) \

p. Constructa .
A tank 20m long . 12m wide and 8m deep is to be made of iron sheet. It is open at the

top. Determine the cost of iron sheet at the rate of ¥ 12.50 per metre if the sheet is

2.5m wide?

()

********x*******************fs**fs********='.=***.**************:s*****

e b



